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(2) There are 50 questions each question carries one (1) mark and all are
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(3) Read the question carefully before sclecting the correct option.
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1 Al 2ao-y A4 A4l 3l w@-L qud 8 7
(A) ML, Hl2l 21 [Buaie
(B) UL, -l @i [Zusde
(C) ML, Hlel i [gusd

(D) ML, il v [gueHd

Which of following type of structure antherozoids of Anthoceros
have ?

(A) Equal, large and biflagellate
(B) Unequal, small and biflagellate

(C) Unequal, large and biflagellate
(D) Equal, small and biflagellate

2 &Ml MUECICIC SR
(A sinfzale
(B) HA $N¥=s
(@) [asey {leso i A SN
D) +lesel
Fungi lacks
(A)  Cell wall

(B) True nucleus

(C) Option Chloroplast and True nucleus
(D) Chloroplast

3 dlasidl osofll suade-dl (1AL A4 3 w15 Sy S 7
(A [Hsleusie
(B) olousiz
(C)  AlRYUSR
D) UM 2SR

Which following type of shape of transverse section of Rhizome of
Polytrichum ?

(A) Triangular shape
(B) Round shape

(C) Square shape
(D) Irregular shape
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(A)  SNWHL dd wiRisH] slwdl
(B) @nid 5%
(@) [sey siNuul Megd ARl gladl i SNRH] uwd
wi[o15210 ] e1%d]

(D)  sMYHL M2 2iRisAl 819

From the given below which is the characteristic of Plant Kingdom ?

(A) Living cell organelles present in cytoplasm

(B) Do migration

(C)  Option Non-living cell organelles present in cytoplasm and
Living cell organelles present in cytoplasm

(D) Non-living cell organelles present in cytoplasm

5 wiflacdlul dlanl SNl 2usR A4 A4 3 Slu & 7
(A) 4sloUS sl dotld dy
(B) 4ol 2 uslons el
(C)  wU+Y[Hd 2SI
D) uslolS sedl dotld isdl
Which following types shape of cell of algae Oscillatoria ?
(A) Length is more than breath
(B) Length and breath are equal

(C) Irregular shape
(D) Length is less than breath

6 wislsidudl dalsd vis syl 3l Hlal Ha 8 7
(A) ssd 4-lela
B) A~ w1 A-lele
(@AM, Aleld 2 de Bigil
D) &5d AM~ALA

In which form of reserve food materials is found in Ectocarpus ?
(A) Manitol

(B) Laminarin and Manitol

(C) Laminarin, Manitol and Oil particles

(D) Laminarin
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A Al
B) sl
(©) 3 «dl
D) [Muy
From the given below the septa absent in myecelium of which
Fungi?
(A) Peziza
(B) Puccinia
(C) None of these
(D) Pythium

8  21usloUsnl sladl A Ugl 56 a-aufaml Hlal 1oL B 7
(A)  olgsiiHy
(B)  usl-lul
(€ Aoflosl
D) iselsiiy
In which of following plant trichogine is present ?
(A) Batrachospermum
(B) Puccinia
(C) Peziza
(D) Ectocarpus

9 dladsHul Uaid suie ved a7
(A)  dldlgrel ys €Y AR
(B)  UlaR URus U1y AR
(C) oY%
D) URHY €d Ysiu AN AR
When an operculum is open in Polytrichum ?
(A) When environment dry
(B) At maturity of Capsule

(C) All of these
(D) When Peristome dried

10 <A U4l 55 adulasll st Flal 1o 8 7
(A) UL
(B) vldlzids4
(@) dldi
D) dlsadlen
Which of the following plant is seen as fossil species ?
(A) Marsilea
(B) Polytrichum
(C) Lichen
(D) Equisetum
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11 RAAmiel sy oflon otdl w18 sigoing A2l ?
A [zwisll
(B) [H=is(]
() i-lgr oflatidl a-ufd
D) dla
Which is odd one from following ?
(A) Bryophyte
(B) Pteridophyte
(C) Gymnosperms
(D) Algae

12 dlayi snkale Al oiAd] Sy B,
(A)  dydly
(B) @&
(C) ey 5%+
D) 188l
The cell wall in algae is made up of
(A) Cellulose
(B) Gelatin
(C) Glycogen
(D) Chitin

13 AL 44 55 a-uli-l @adasdl vald -ysin-dl sidl Flal
Wi 8 7
A {lagidlul
(B) slgsiiHy
Q) vidlausy
D) eldlAn
From which of following life cycle the motile reproductive cells
are absent ?
(A)  Oscillatoria
(B) Batrachospermum
(C)  Polytrichum
(D) Anthoceros

14 <A1 U4 55 anuli W@ids Sy a1 8 7
A yeiylsy
B) "ol
(@) dldi
D) -+l
Which of the following has prokaryotic cells ?
(A) Ulothrix
(B) Peziza
(C) Lichen
(D) Nostoc
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A) ozl dla
® dd da
(O ad dd
D) dldl - ol dla
Members of class chlorophyceae are commonly known as which
following name ?
(A) Brown algae
(B) Green algae
(C) Red algae
(D) Blue-green algae

16 ~lrelsl Aeelnl A1 U8l s [Ru 413 & 7
(A) 835 dgrl srd adat y{ldy-l vidRel eled] Flal 1 8.
B) o [Hyl-
(C) s gl ¢l
D) A A dg ylaw 21198 43 2aRd €1y 8,

With reference to Nostoc which one of the following statements is
correct ?

(A)  An individual mucilaginous sheath is present around each
trichome.

(B) Both of these
(C) None of these

(D) The trichomes are generally not surrounded by mucilaginous

sheath.

17 Qollosl 2i[E0(l woyee »iduq dd¥ ad & 7
(A oflonglail
B)  sidlduiellangbi-l
(©  a-ldul 2 sl duiellmgsidl of
D) si-l{ul

In Peziza the asexual reproductive organ behave as
(A) Sporangium

(B) Conidiosporangium

(C) Both Conidia and Conidiosporangium

(D) Conidia

DF-3010_D ] 6 [ Contd...



18 1A U4l 56 ARl a-UsUlL sa- ol Ssn-] @Al sl WA B 7
(A)  wis2sy
(B) &251u4y
(@ 516 4 Al
D) yesllsy

In which of following types the structure of cystocarp developed
after fertilization ?

(A) Ectocarpus

(B) Batrachospermum
(C) None of these

(D) Ulothrix

19 {4l AL U8 ofleyui-l-l sul SNl saq 4dal [Hufed a8 7
A dldisisiy
(B) il-lsisiy v ldisisy
(@ 516 4 Al
(D) »idiIdlgisy

Which cells of archegonia disintegrating before fertilization in
Anthoceros ?

(A) Neck canal cells

(B) Neck canal cells and ventral canal cells

(C)y None of these
(D) Ventral canal cells

20  leflumui (A1 44 suL usled INel AldL Ha 8 7
(A MR
(B) ugma+
(C)  Hdiusdl
(D) =qlgasf]l
Which following type of mode of nutrition shown in Pythium ?
(A) Parasitic
(B) Symbiotic
(C) Saprophytic
(D) Autotrophic
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[Boiofl aaufnl oflostgdl A U4 56 wiaenl gy 8N dd3 ad & 7
(A) ol s vl

(B) [Eol 2iarul

Q) $1S 4e A<l

D)  FYA~ls g8

In which generation in bryophytic plant the spores represent the
first cell ?

(A) Sporophytic generation
(B) Sexual generation

(C) None of these

(D) Gametophytic generation

Slsaxflequl oflong, Godles il Ul A1 wlowy § 7

GVIRIE

B) -l

(C) oYL %

(D) oflongslus

What is the name of spore producing organ in Equisetum ?
(A) Cone

(B) Sori

(C) All of these

(D) Sporocarp

56 anu[daHl oflmgees viarl 24 2 4yeiel A-yeeis ware] GU siadd
87

(A) &Yy

B) Wiy

(C)  sl6 M9l ]

D) AL

In which plant sporophytic phase short and completely depended
on gametophyte ?

(A) Nephrolepis

(B) Anthoceros

(C) None of these

(D) Marsilea
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(A wiEd(] U vl
(B) [0l YU+t 2idyl
(@) [sey diaulds sasoosl @l 2 [Zofl wa-- videe)

M) difds sasmo-l Wl

Which character is used as main character for the classification of

the fungi ?

(A) Asexual reproductive stage

(B) Sexual reproductive stage

(C) Option Structure of vegetative mycelium and Sexual
reproductive stage

(D) Structure of vegetative mycelium

25  @lf3eidl UG seq ¢ s3qly !
(A)  sA28UH
(B) YldAluy
(@) [asey N9A1uH 214 AN

() RREIEEIRK]

What is called the fruiting body of Lichen ?
(A) Cleistothecium

(B) Apothecium

(C) Option Perithecium and Apothecium
(D) Perithecium

26 ~flA-l Ul a3l 56 nlastisll 203l WH 2y 8 7
(A)  Adal
B) sad-lul
©) [MeuRul
D) >Rl
From which of following species the Orsin is obtained ?
(A) Rosela
(B) Caladonia

(C) Cetraria
(D) Archilino
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27 el AL 4L syl usielL ugl Hlar wA 8 7
(A)  dysduel
B) usieflngngl
(@) dHIH HslR-L
D)  agoflonguel
Following what kind of leaf is found in Marsellia ?
(A) Compound leaf
(B) Megaphyllus
(C) All types
(D) Microphyllous

28  »iflazldluie] 59 alaul 2310 3elraiedl L Flal 1A 8 7
(A) O. Formosa
(B) O. tenuis
Q) 23y «d]
(D) O. angusta
In which species of Oscillatoria we can see the structure of calyptra
on apical side ?
(A) O. formosa
(B) O. tenuis
(C) None of these
(D) O. angusta

29 AUElY sul UslRl AldEAnl aoflsd ay & 7
(A sel™
B) glua
(© el
D) vder

Graphis is classify in which type of lichen ?
(A) Petaloid

(B) Fruticose

(C) Foliose

(D) Crustose

30 oryuiel 2 2idni] vl vl vl GUI By Wiy dn _ sdqiy.
A fleflaels
B [ased yusyolangs 24 w{lyeflangs
(©) 3 «dl
D) yusiellongs
Antheridia and archegonia grown on different branches which is
known as )
(A) Gynoandrosporous
(B) Option ldicandrosporous and Gynoandrosporous

(C) None of these
(D) Idioandrosporous
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31 A1 U4 & Rvje vl sl § 7
(A SN[
(B) UlRes ei-llddly
(C) =& oi-|ddly]
(D) U~
Which is following function of Separation disc ?
(A) Cell division
(B) To make transparent

(C) To make Mucilaginous
(D) Reproduction

32 g0l wivealln (A1 U4l 5 (Au W =l ?
(A) 835 &0l ydluadl €y 8.
B) gl ydayl 8,
Q) 23y ]
D) g0l lesaadq €y 8,
Which sentence is wrong in respect of Fungi ?
(A) All fungi are parasitic
(B) Fungi are of universal occurance

(C) None of these
(D) Fungi are achlorophyllou

33 A U4l 56 A dla 8 7
(A) Ulothrix flacca
(B) Nostoc punctiforme
(C) Batrachospermum vagum
(D) Ectocarpus conferus
Which of the following Algae is epiphytic ?
(A)  Ulothrix flacca
(B) Nostoc punctiforme
(C) Batrachospermum vagum

(D) Ectocarpus conferus
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34 UAlAHL 2zs HigsMHL oA SN3) q3 A3y 8.
(A) Yl
B) [aseq slNdayfd e d-@=ydl
(@ 23y ~dl
D)  SMEsy(d

Both nucleus of ascus mother cell are attached with in
Peziza.

(A) Somatogamy

(B) Option Karyogamy and Somatogamy
(C) None of these

(D) EKaryogamy

35 wR{ARAL Yol sy Bog A U4 56 qudl GuR Flal wa 8 7
(A) 4% oLy
(B) U - dgl el
(Q) w14l ey
D) d& o

On which of following surface of Anthoceros, slime pore is located ?
(A) Dorsal surface

(B) Dorsal — Ventral surface

(C) Lateral surface

(D) Ventral surface

36 Slsaxlenul aaiay 13- U4 3l -l YU & 7
(A) MM, ~ildl i olgdEHe
(B) MU, el v [gyed
(C)  wyHie, ~ll-l 24 [gusHe

(D) dHId, wivil w7 sigueMe

Which of following type of structure antherozoids of Equisetum
have ?

(A) Unequal, small and multiflagellate
(B) Equal, small and biflagellate

(C) Unequal, small and biflagellate
(D) Equal, small and multiflagellate
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37 HRfaAIMl dllis w1 14 syl viol 9 Yy 8 7
Ay lug
B) [
Q) ofloglslas
(D) olisyll
Vegetative reproduction in Marsilea by means of which following
organ ?
(A) Tuber
(B) Stolon
(C) Sporocarp
(D) Rhizome

38 1Al U4 55 lanl aldrulis, W00 i [Eoll wae oldl 4o & 7
A -2l
(B) Gal-luH
(@) wiselsidy
D) lazilul

Which of the following algae shows vegetative, asexual and sexual
reproduction ?

(A) Nostoc

(B) Oedogonium

(C) Ectocarpus

(D) Oscillatoria

39 wselsiduHl »iEe0 uad w2 1AL U4l su1 oflongil wqleiglz 8 7
(A [Eusda 2eoflng
(B) »usHd yaoflng,
Q) [usde viyeslang
(D) olgueave goflany
Which type of spores are responsible for asexual reproduction in
Ectocarpus ?
(A) Biflagellate zoospore
(B) Aflagellate zoospore
(C) Biflagellate aplanospore
(D) Multiflagellate zoospore

40 slresey v ddresed Al U4 sul aolui Alal wA 8 7
(A Adsl
B) &gl
(@) sdlAsul
D) Al-lsu:d
In which of following class conceptacles and receptacles are found ?
(A) Rhodophyceae
(B) Pheophyceae
(C) Chlorophyceae
(D) Cyanophyceae
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(A)  [Eadly aie dlzfl »uélal
B) [Eufalsd 241 2lislelr
(@) [madly 24 2lislelr
D) [aeufaled 2 dlfl yuiglalol
Which of following type of rhizoids arise in Anthoceros ?
(A) Septate and smooth walled
(B) Aseptate and tuberculate

(C) Septate and tuberculate
(D) Aseptate and smooth walled

42 A1 U4 & ol elrl A8 elbslug Al ?
(A) 1388
B)  oflmg,
Q) ollmgHidsin
D) Aairy
Which of following is odd one ?
(A) Egg cell
(B) Spore
(C) Spore mothercell
(D) Antherozoid

43 wiiflelAl ollongasil Fldl Hodl slay Fdl @l g sdaly ?
(A [Yein
B) [Huldz
(©) geylasl
D) Mae
What is called collar like structure in sporophyte of Anthoceros ?
(A)  Operculum
(B) Apophysis
(C) Pseudo elaters
(D) Involucre

44 dN2ML sy usiRAl el 8 7
A4 vder
@) glua
©) sel™
D) usle
Which kind of lichen is Hematoma ?
(A) Crustose
(B) Fruticose

(C) Petalloid
(D) Foliose
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{131 14 Ghollus-l 56 ¢l ol & 7

(A)  O. nodulosum

(B) O. concatenatum

(C)  O. fragile

(D) O. aquaticum

Which of following the dioecious species of Oedogonium ?
(A)  O. nodulosum

(B) O. concatenatum

(Cy O. fragile

(D) O. aquaticum

(2ol axifizilel Azl (A U4 &6 ollel 2l 8 7
(A gudl

B) ooy slus

Q) 23y «d]

D) FYAS

Which of the following phage is subsidiary in the life cycle of
Bryvophyte ?

(A) Gemmae

(B) Sporocarp

(C) None of these

(D) Gametophyte

BAwiof] ariufdalnl wHlsel suz dy 8 7

(A) (ol wo--iol Mulel uud

B) [sey ayiidl Mulel 44 v [Eol uarnziol Mufe ¥4
(O 13y -d]

D) FYil-l Hulel 443

When we can see meiosis in Pterodophyte ?

(A) At the time of formation of sexual reproductive organ

(B) Option At the time of formation of gamets and At the time
of formation of sexual reproductive organ

(C) None of these
(D) At the time of formation of gamets
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(A) FEquisetum palustre
(B) FEquisetum telmateia
(C)  Equisetum scirpoides
(D) FEquisetum arvense

In which of following species the fertile branch gets green after
dehiscense of cone ?

(A)  FEquisetum palustre
(B) FEquisetum telmaiteia
(C)  Equisetum scirpoides

(D) FEquisetum arvense

49 A1 94 syl usle usdldlul AAuHl el uand-l usl ddl3
S UIRETORE

(A)  SMEey(d
(B)  uM%ydl
(C)  [AMHEYdl
D) A%l

Which of following type sexual reproduction in Pucciniagraminis
known as ?

(A) EKaryogamy
(B) Isogamy

(C) Oogamy

(D) Somatogamy

50  +flA+l U4l Ul 23Ul Aldd ASHA ud 8 7
(A)  82AHR
B) [asey S1HIAY i d2AHWY
(O 13y -d]
D)  SIHIA™Y
In which of following type of Lichen have Rhizine ?

(A) Heteromerous
(B) Option Homomerous and Heteromerous
(C) None of these

(D) Homomerous
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